i 200 Al2l4e
o200 BATMLS

Al A

Oll &F o & E Ol At 52

2,718,167 2,026,537 691,630

200 M2l +=¢ 662,678 631,798 30,880

210 & HAN 2= 487,678 462,798 24,880
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521 Al - EHIEX S 2,055,489 1,394,739 660,750
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 25,000,000 22,000,000 3,000,000
02 I 2S0ICHEt A == OH & At H 25,000,000 22,000,000 3,000,000
OMRG(zl A 2P+ BXF) 25,000,000
406 J|EFAI20I A 3,988,200 3,572,800 415,400
01 JIEtAt20l M 3,988,200 3,572,800 415,400
OYME 2ol BH
1,969,000,000& * 115% 2,264,350
OAUHE FABSEAI(RA-AH) MEX 2
1,499,000,000& * 115% 1,723,850
a2 ZEE X (0 XH) 195,211 0 195,211
TH 195,211
311 X+ S0l At &f 195,211 0 195,211
T 195,211
01 Al -2 - FXNENLI XL S0l RS 195,211 0 195,211
Oxted 2 Ol Atatst 195,211
—~FAEERAMNLIIZ 0 X (14.5. 1423 2)
3,500,000,000& =* 3.0% 105,000
T 105,000
-~ ZAYEXSNLIZ 0IAH(09.3. 12L 8 )
2,400,000,000& * 3.5% 84,000
T 84,000
-SI=2 XYM BHEIIZ2 0l XH(15.12. 231 Xt
&) 666,666,670& * 0.02 * 170/365 6,211
T 6,211
oo BEE NS (AS3) 2,733,334 0 2,733,334
T 2,733,334
601 XS A3 &s 2,733,334 0 2,733,334
T 2,733,334
01T Al -2 - 2XNIHLISHLSIAS4E 2,733,334 0 2,733,334
Oxgd=s =4 2,733,334
- AN XANLI 2 F2(09.3. 122 #=2)
12,000,000,000& =* 20% 2,400,000
T 2,400,000
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) 333,334
H 333,334
HE2LAIH (IS A ) 67,720 54,840 12,880
Jl23&dl 67,720 54,840 12,880
Jl234 67,720 54,840 12,880
201 Let24d] 17,080 15,960 1,120
01 At 2teltl 17,080 15,960 1,120
OMEES P&l 225,000& ~ 12& 2,700
OdMARE P 225,000& = 12& 2,700
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OZdEE, s HAUHY =X S|

7,000& = 16H » 40 4,480

202 o4 Hl 42,240 31,680 10,560

01 = LHA YI 42,240 31,680 10,560
O=2Uobl (=S odl) 42,240

203 YR =& 4,200 3,000 1,200

04 NI 4,200 3,000 1,200
ORAN2EYE=LHI 350,000& = 12& 4,200

204 MR FH| 1,200 1,200 0

01 MR I 1,200 1,200 0
OXM gL A H| 100,000& * 128 1,200

405 XHoHF S HI 3,000 3,000 0

01 AL EZFH S 3,000 3,000 0
OL% HHlR WA 3,000

Ne2es (s 32,001,230 30,635,431 1,365,799

HEAHHK = 32,001,230 30,635,431 1,365,799

SAEBEMNSTEEH BE= 32,001,230 30,635,431 1,365,799

701 JIEtSI HSEES 32,001,230 30,635,431 1,365,799

01 JIEteI HE == 32,001,230 30,635,431 1,365,799
OEANMEE SE3H &8&3 32,001,230
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